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6 Unit 8a Review Sheet

1. Define the following: .
a) Acute Triangle- (L 2\ With all anales less Haan 90

b) Obtuse Triangle- O £ WHIN oNé angle greafcr +han 90

o) Right Triangle- @ £ Wit one angie mcawring QO

d) Equilateral Triangle- () A W\‘ﬁ’\ 0\‘MUO' S.ﬁd"f"ﬁifs
e) Isosceles Triangle- (0 AN WH. 0"’ !QQS_:"‘ 4+ O equal Sld@5
f) Scalene Triangle- _Q N wihn N0 CQUO‘ gidesS

2. Find the value of x and classify each triangle by its angles and sides.

a) 84°
51° 51 180 Acote Scalen e
( +84 |35 o

135 ;EE

180 ll\g'm- Tsosceles

b)

4’40
135 /x—’-is

b3 |
r 03 ..,2_?0 kCute Isosceles

d) 8 lﬁ_ﬂ

25,

N/ GO
¢ ; +25 ‘on obtuse Scatend
&9 [X:q 51




3. Solve algebraically for the value of x and y in the triangles below. Show ALL wor,

a) b) hint... first, find x in the LEFT triangje.
A
% ‘ c - - Y = ,-7 FoN PR
DAY ZET SA+S 24 2X-10° |1K0 ~ Gy
/// \_\(; +’4’?l")" 5 i(f
- “ GBx-18P NV /
(.J.’// 4 \ \.\\’ /
(x+7F N
. N

. €X=200 | X = H L
4. Can the following Iengths(g\n(gles form a triangle? Yes or No? Explaln Wh\} /

a) 5cm Zcm S9cm w c) 6in,9in,15in 7
g C | 4

N e
\

= e e twpsmaller | bt 4715 IBT-18 7k -
b) 8ft, 3;;1, 4t e G qrearrr d)50°,70°, 70°
Yoy thavT Targest | - 70170+50= 150 )
m,m Side | ) 90 G Ko
5. Solve forx. Tl

quadm [ atera |
surn of angigs= 360

O&+12(+ 106=300

2C- 200 GIKDL, ,

6. Answer True or False.
a) _| All parallelograms have two pairs of opposite sides parallel and equal

02 b) T All rectangles have four right angles Guadniareva |
2\ ¢) [ All squares are rectangles & \\
d) LAII parallelograms are squares [_f&/ ﬁm
e) - All trapezoids are parallelograms. <\ & - %
f) L All trapezoids have right angles. et ZC“ E_—_\ —

i




7. Classi
Sify the Quadrilateral with the best name

/ (quadril

atera
' , Parallelogram, rectangle, rhombus, square, trapezoid, right
trapezoid, isosceles trapezoid)

a)

I b) c) K-> e
L /4)\ 1S65c2Ies

. Square Thembus  — »—7 17pe1ni
also a pavalielearary false a , F el o
by Al avraltelcgvyam {n”:. Meicaygn (LH‘)L N
rectungie + hopdbus 7} T Y iald hapeztid)

8. Algebra Find the value of x in each figure.

m X (x+22)> (o\/?
& -3 X x+22)° x° A w X,

Suwlc4"arqyzg-5&13‘ supn oF I50(2)
clﬂ()‘LLJ ISUA3) =54 C
2X + 237 = i'.&’p(hﬂ “2) S4o[5 =108
2'7"360 ’&bthQA | 1€0-10€=]73° |
¢ - 2sr st I50(4Y=720
________________ X+ X122+ A4+22 + % +40+ 40 =720
2x = 123 x=61.5 UK +224=720——""",
9 UxX=4q0b :—L";LjTJ )
. Multi-Step An exterior angle measure of a regular polygon is given. Find the
number of its sides and the measure of each interior angle.
a) 120° by 36° _ ‘
300° it 30 5 side s
» 1V, ) i " e 2 i - : i -
o & S €3 ov T L —
i ,’?\ L) , A Sl l‘_._____*_,_,/jl : —T
acn inferior 4 O U~ 30 =/ 144° |
each INTENICY 260 | 5 e
e ' (\,,(_'( \
\

10. a) Find the sum of the exterior angles of a pentagon.

500°

b) Find the sum of the exterior angles of a hexagon.
0O
c) Find the measure o@xterior angle of a hexagon.

300/, =(60" ]
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2x + 237 = 360
   - 237   -237
----------------
   2x = 123  x=61.5


erin.fay
Typewritten Text


————

— ——

" Example 3
o - - 6
Determine whether the figure is a polygon. If it is, Exabpp

classify the polygon and state whether it is regular. " Find the measure of one interior angle in a regular
If it is not a polygon, explain why. 11-12. See margin. ey
" 1 \/ €5 m of the measures of the

~ 4 b
| (Step 1] Find the su Ty S

¢,y angles. Aheptagon has 7 si
QL‘ S , Qua LA\ attv ) \!( o s 20 s
viay -

NOT | e(L(UV ° Simplify.
=5]80 or900 2impliTy
Find the measure of an intenorangleofeach J Stcke) TG L (/L I (180)

regular polygon. The sum of the measures of the interior angles is 900°.
7] Piheagon Raw 14. 18-gon 160° [RO(1€-2 197:6!5 2| Divide the sum by 7 to find the measure
_ R What is the measure of each interior angle of the{‘i‘; of one angle.
180 (62 stop sign? 135° 000 + 7 = 128.6
) lbb (8= So, the measure of one interior angle in a heptagon is
—_ about 128.6°.
Lesson 12-1 Cirdes and Circumference (pp.558-562)
Find the circumference of each circle. Round to the EXAMple 1
nearest tenth. N .
s (g Find the circumference of the circle.
fe 1. 2. (HTY Round to the nearest tenth.
- Circumference of
P —{=2mnr a circle
V
4»—»»— —_ 9.0 ! g =2.7+9.2 Replace r with 9.2.
~[12%
i -.-_‘._ B ~57.8 Simplify
L S ERAeter= 5_ ’ s TG =13,5 mim “\\ So, the circumference of the circle is about 57.8 meters.
= arfl 5. AFerris wheel has a diameter of 250 feet. What is \
L= 1155 the distance, to the nearest whole foot, thatriders > (= ﬂ ( )
of ¢ = i it for 15 rotations?
1.5 £71 travel if they stay on ut — ¢ :'x
C=T(250) = 1%5.3875(is f/é_‘i_fl
1,781 £ r )
Lesson 12-2 Area of Circles (pp.563-567) |
_ Find the area of each circle. Round to the nearest tenth. 630 mple 2. ;
=1 6. 7. 1l / (7 S) Find the area of the circle.
—"""Round to the nearest tenth.
s Al ' .’H :)' ! == > Area of a circle
1) (€))7 12
,‘ g Q) __,__.‘..... =1« 3.52 Replace r with 3.5.
i 1.

20 1.1 |8. Apie has a diameter of 9 inches. Find the area of the =~ 385 Simplify.

i b e it Flound 1 the Neatest bafih. So, the area of the circle is about 38.5 square meters.

L=H S

A=Tr(45) 63 bin |
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Area of Polygons

‘Parallelogram: (b)(h)

Triangle: %(b)(h)

Trapezoid: %(ba+b2)h

1. Find the area of the composite figures to the nearest tenth. Show all work.

a)

1Sin.

10 in.

39.%in?

)

A=l
(O \S.— S—

EL‘H
i I T 2 RE
'j)"l-‘)‘f!SLv—‘)S"j.%lQ

3cm
b) P
3cm f cvi*
5cm
| 20m?% z
10cm .
ool A Ro Pl l4 i
' Bhocniil B2

2. Find the area of the shaded region to the nearest hundreth.

I8 ¢m

9. Find the area of the
~ composite figure.
L(2)=on* +

— -

-

23

P i( %)Ci S) =S in®

10. The floor plan of a
new museum is
shown. What is the
area of the museum
rounded to the
nearest square foot?

/’ Qtlfp‘ﬁ)
(= =T (30"

=2 82774512

12¢m

A= 18(12)2 b tm?

. s
BoSH. S 2

Y rectangles .
20(0Y= /ﬂ.)u(“l) (‘1@’( (‘

ciral =Tr=
T (U)*
j Uffesstee :
§ - g B \}
Ne-16T=1e5. 73 cnn?|
2/
Example 3
Find the area of the 1.6cm
composite figure. -
Find the areas of the 53 e
semicircle and the :
parallelogram. Then add. I
3.2¢cm
Area of Semicircle Area of Parallelogram
] 9 N T g {
A=-i-1rr2 A=bh .éd T )‘{ sbe
2 %’" (1.6)° =(3.2)(3) + 4§00
~ 4.0 cm? ~ 9.6 cm? b b
The area is 4.0 + 9.6 or about 13.6 square centimeter
| £ (1 U (" rE LK
LO(C
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Throwback!

1. The price of a math book is $50, but you have only $35 with you. If you get a discountof e,
20%, how much money do you need to borrow from a friend so that you can buy the book?

. 4 = b 1_5 P ALY -
B0(.20)="| Q & dscovn

~ S new (0SA
SHD- 10 = SO New W

‘ , | !
YOO - _ |
(Da | K l—iL) \\ l L' 1),* L) (‘ | (
HO-2c=% boy (o€ d
i o i ) T Sl i P

——
e

2. Maria and her three friends went out to eat. The bill total was $114.25. They then used a

15% off coupon and had to Pay an 8.25% tax on the bill. What was the total bill and how much
did each person pay?

| 5 diso
S TR L T
WH2Z5(S) =17, 14 Each person

119.25~17.14=%477. )] /‘\jq‘j H' will  pay
e 7+ 8.0} $26.28
@Li -7 '\ (’\, bbg 5) :J"B/, (/J il f(/,'\)( e J I (—\ C > ] -

i

Nt

.

]

3. Danny tosses a coin four times. What is the probability they he will land on heads all four

times? _; \ { -] j |— ,
2 2 2 == =625

[~ | | chanc,

——

4. Paul challenged his friends to a race. He told them he could run a mile in 7 min and 30

seconds but actually ran the mile in 8 minutes and 10 seconds.

secenads |, & iy e o
a. Convert the times to minutes 4sQsec and 490 Sec.

b. What was his percent error? : ' —
. S B 1= R ¢ © G 7 A
. L,,* Ul L__f___\ L“ ‘\.(’ ) Reoc :.{ Ll‘ L__ ! “ .
“ B A3V “ q( ' DY j
s &;L'ib"‘! B R
4
A
5. Solve for x: 5x+ 3(x+4)=16x-4
d (sirtbt iC SX+3X+({2 = lbX-4 cYULVF* “‘4 \ :)
LLLV o \XHZ. (lX-Y 5(2) | “"3 1)
sk T&X e 10+ 3(0) = iitALRl 22- 1
_ 2= SXA\H - BN g |0 Hi¥

SN b= ~8 =28V
r4 28 = 28

\ <Y
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